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Ycnosue:
HaiiTu ob1iee pemenue quddepeHMalbHOT0 YPaBHEHMS BbICUIETO NOPSAAKA:
y® = cos5x.

Pemienue:

1
y® = cos5x,= y® = f cos 5x dx = gsin 5x + Cy,

@ 1 . 1
y = (gsm5x+Cl)dx:—£c055x+Clx+C2,

’—f(l 5x + C +C>d— 1'5+C12+C +C
y' = £ C0s5x + (1 + Gy dx = ——esinSx + - x 2x + Cs,

=J‘(—Lsin5x+&x2+c x+C )dxzic055x+ﬂx3+%x2+Cx+C =
y 125 2 2¥ T ls 625 6 2 3X T La

06Luee pemieHrne NCXO04HOI'0 YpaBHEHUA 6y,LIETI

cos 5x
625

y(x) = + C1x3 + Cyx?% + C3x + C4,T1e Cy, Cy, C3,C4 — MPOU3BOJILHBIE TIOCTOSIHHEIE,
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